Question No. 2
1 no net force acts on a moving object. it will have
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_Question No. 4

e spoes ot an obyect Icreases ive tmes. 5

@ 25 mmes
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@ 10 tmes
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Question No. 5
Tmmmmmmeasesas

area between the suffaces NCTeases
the normal force between the surfaces decreases
the coefficent of iInchion decreases

the normal force between the surtaces ncreases
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Question No. 1

A car is moving with 72 km/h for 40 min and then t
this journey Is approximately

Q0K a rest for 20 mir he ir ther nlinues wit

wes with 120 km/h for two hour

956 km/h

100 km/h
' 110 Kmvh

75 kmih
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Question No. 4

Two forces 10 N and 25 N act in opposite directio

3 kg

2 kg

12 kg
Bkg
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Question No. &

Temperature is a measure of the = _an object

' volume of

' area of

' hotness or coldness of
color of
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Question No, 7

The height a 20-kw motor can iift a 1000-kg mass to In 10 seconds is

“40m
20 m
10m
30m
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Question No. 15

The power needed to speed up a 1000-Kg car from 2e10 kmim 1o 73

' 40 Kw
20 kW
50 kw
30 kw
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Question No. 9

You applied a horizontal force of 200 N 10 push a level fat

Ie Dut the table remained at rest The siat

20 kg
20N
200 N
200 kg
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Question No, 14

& wrecking ball of mass 200 kg is raised 6 m aboye the grouna, v

S Ihe potential energy of the bak?

12 kJ
120 kJ
0.12 kJ
1.2 kJ
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| Ques:mn No 2
he maximum height 15

‘ An object is thrown vemcalry upward. Its speed at t

|

| © equals the initial speed by which [t was thrown

‘ @ greater than the initial speed by which it was thrown
| @ zero

| @ grealer than the average speed
|

[
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Question No. 13

When a man pushes on a wall with force 100 N, the wal pushes back

ALK N Nim with force of magnity e

SO0N
200 N
ON

100 N
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Question No. 17

The human body average temperature is 98.6 °F. Wi

iat is it in °C7

373¢C
40°C
310 °C

37 °C
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Question No. 23

A car in linear motion has inftial speed = 72 kmvh. If it trave

225 m
800 m

100 m

525 m
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Question No. 16

A force of 1000 N is making an angle

of 60" with the dire
If the work doneis 500 kJ. the dist

ction of motion ofan object.
ance moved is:

2 km

1 km

0.5 km

1.5 Kkm
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Question No. 20

A rock falls from an edge of 2

mountam 45 m above the ground. Find it
ground? (use g = 10 ms™)

40 mys
20 mis
10 mvs

30
<l m/s

Gave & NEXE 13, dan




A/

Physics_Qu'rzZ_SemZ_?NQ
Tolal questions in exam' 25 | Answered: D
Question No. 22

A constant force F is making ana
the distance movedis 100 m an

40 N
20N

10N
30N
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Question No. 24

If a stone drops in a free fall from the edge of a mot
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Question No. 15

‘ The law of action and reaction is Newton's:

O Inertia law

& Second law
2 Third law
' First law
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Question No. 19

Gravitational potential energy of ;

temperature
position
velocity

acceleration
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Question No. 18

Neglecting air resistance, if a stone s thrown straight up with ir

o B Nt A0 B
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Question No. g8

How many kilocalories of heat must be added 1o 10 kg Tungsten to raise

» lemperature by 230 Far renheit?

(The specific heat of Tungstenisc = (0,134 J8.°C and ATF = 1 8AT)

4.09 keal
409 kcal
0.409 kecal

40,9 kcal
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Question No. 10

A 10kg of a substance absorbs 173 keal
the specific heat ¢ of this substance?

of heat and its temperature rise

s irom zero to 150 °C. What is
c=0.715 kealkg *C

€=0315 kcalkg.°C
c=0.115 kealkg °C

€= 0.515 kecalkg °C
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Question No. 3

In the Fahrenheit lemperature scale. water freezes at

Save BINEXLE A s
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Juestion No. 18

fan object is falling with an acceleration that is less th

© must have big inertia.

© must have a small mass.
© is non-treely falling.

© s freely falling.

e

an the acceleration due to gravity, the object:
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| 4 10 the acceleration 3
B = i e r 3
e corhonal 1o the acceleration 3
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Question No. 11
| A paner weighting 630 N chmbs 10,3 heght of 5 m 3
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Question No. §

The unit of the coefficient of friction Is

< misis

“ newton

~ newton/kg
has no units
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Question No. 11

A 4004y concTode Doam A 8




of 15 m?
« W molof to rase a 190-Itgr|:ﬂ5510 a height
: Mmmﬂlmu a 1500-W

O a0s
@ Ws
¥ s
i O 1Ws







Quesuon No. 23 SR N W &y EaES

‘ Which of the following do not help reducing (dha) kinetic friction:
i

© using Teflon

© using heavy weights

© using smoother surfaces
' using lubrication (< 3)
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Question No. 21

A force of 1 N 15 the same as

1kgms
1 kg m/s/s
1 kg m/s

1 kg s/m
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Question No. 5

The unit of the coefficient of friction Is

' misis
“ newton
“ newton/kg

'~ has no units
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It 2 bullet = fwed from a handgun with a force F1, the handgun recoils (=.7) with 2

A F1 and F2 are not equal
F1and 12 are equal and in the same direction
F1and F2 are equal and perpendicular
¥ Fland F2 are equal and opposite

il ml;||| i "

| |:'IH’-.-._':',._, b ‘ . i _: I
il . \\\'-‘ i

LII
h
it | ” W

”I“lll

|



Question No. 22

If there is a net force acting on a moving object, the object must be:

© small

- © moving with constant velocity
 large

© accelerating
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Al what speed does a 20-N weight have a k:neilcenergrol 100 42
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Which of these can not be a unit of

heat :

BTU

WATT

CALORI
JOULE

—

Which of these can not be a unit of heat :
BTU
WATT
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Question Ho. 25
Al what speed does a 20-N weight have a linebc energy of 100 7
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Question No. 21

Aforce of 1 N is the same as

1kgms
1 kg mis/s
1 kg mis
1 kg s/m
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